w4+ = L3:2_

54 _(-_—3_5-:_5_—:.2)_ = ’__2&_0(&) 54.
) (x’+2x-3) (x-VYOAD)

x(‘&‘\-})

—\x+Z | ){{"
3}/ (x)af'f -(x+3)

Solve and check for extraneous solutions.

F

6+5x Z 55

s ¥, 5 s Y= ‘7('5.

9 P () | .
bl 6 a0 Soluhion

X3 +X-2= 9
Zx+1=5 y =2 nexrresy
2= Y
3 __12 58, X:S-i -2

+2

" x+1 x*-1

G o) |
peley = 12+ 05
32 k= \@x A%~ X

%2-3%x -0 =0

Y=5 X=-&

w@mj
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59. Given the graph, identify the following characteristics. If none exists for a specific characteristic,

write “none”.

b I

Dwa e

| P f'ff,:f_f /,_

.....J{g‘...s =7 36 5 .4..;3‘

a. Vertical Asymptote(s): X 3 ) _ -

b. Domain: / 20, -"5) ( ’3: =5 )/’5) @)
c.. Zero(s): “"’} . S- } / £ 5
d. Y Intercept: (O ) ‘)

e. Horizontal Asymptote: A = L’

Y&

60. For the given function, fx) = ———— state the following: : ) o(._‘)

Vertical Asymptote _x:_’__&_ Domain: _L@_’,_D (‘ )C ‘f J ab)

Horizontal Asymptote !a q
Zeroes y-intercept: ‘ Q, Q)




